System Verilog

Exercise 1: Whatare the packed and unpacked dimensions of each
declaration?

logic [3:8] x ;
logic signed [15:08] vy ;
logic [3:8] [7:8] z [15:0] ;

Exercise 2. What are the signedness, size and value of each con-

stant and each expression above?

// what are the values of x?

X = 4'b01xz ;

X =-1+ 0 ;

y = -1 + 4'shf ;

X =Y,

// what are the values of z?

z[0] = :

z[o] = {4{4 b1}}

z[o][0][7] =

z[15:0] = {16{2[9]}} 3
gig [3:0] x ;

c signed [15:0] v

[3:0] [7:0] z [15 il 5

// what are the values of x7

// 4-bits, some undefined some 'z':
x = 4'b01xz ;

// signed 32-bit (-1) assigned (truncated) to unsigned 4-bit:

("= %0 Xd"x,x) ;7 S prints: # %= 0lxz

=1 0

{"x=",x} ; ff prints: # x=15
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// signed 4-bit (4'shf) is sign-extended (not zero-padded) to 16

// bits before assignment: 1111_1111_1111_1111 +
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y = -1 + 4'shf ;

// signed 16

("y=",y) ; [/ prints: # y= =y,

X =V

{("==",xY : /ff prints: # x=14

114311911791 1910

bit is assigned (truncated) to 4 bhits
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X=X
x=15
x=14
z[ 15]= X
z[ 14]= X
z[ 13]= X
z[ 12]= X
z[ 11]= X
z[ 10]= X
z[ 9]= X
z[ 8]= X
Z: 7]= X
z[ 6]= X
z[ 5]= X
z[ 4]= X
Zz[ 3]= X
z[ 2]= X
z[ 1]= X
z[ 0]=4294967295
{4{4'b1}}= 4369
z[0] = 4497
z[ 15]= 4497
z[ 14]= 4497
=T 13]= 4497
12]= 4497
11]= 4497
10]= 4497
9]= 4497
8]= 4497
7]= 4497
6]= 4497
5]= 4497
4]= 4497
3]= 4497
2]= 4497
1= 4497
0]= 4497



